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( Solve each system by elimination.
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A6+ 8y=-24 o () +8(-6):-29 ,  —Ax+2y=-30
Au = ’ Yx +-48: -2+ :

%-—% -Jx-2'4
X \é
S)h/ilig 2(10)+y=19

L0 f-y 13

3x:3
Y) S
T [lezn)

5) -2x-9y=-25 ‘Né&i#‘.‘bfuneocg

1 (- 923 ¢ 1)

Yx+9yra 3e”| -2(-1)-Fy*-25
TS e
x 2 = T fyiay

Q@Y 3F

'-6r+6)=(6) ! :
&—6,“—3;_—12 y 3
Add GxO(.Y -l ’Cl’““3((a se]2
~3y:-1¢ ~lx HIPe-/1
B2 7%
< o e
3 v 5-(l> — by
8 déﬁﬁ@-?— %y
10x—=7y=—
pimezysin | Sxed9
’__)’"36 ES"
ﬁ
y>‘l‘/ (1,4 X‘l
4 ' 1'{:31 +7)=L-16)-3
g =15 “fxo-s'(-'-{ s /b
B Uy 98 “?u-z) =//¢
) oy e +tZ0 110
oy o7
e -6 ‘3_’_(‘\3_9
i,

=

4) —-6x + 5y= 1
6x + 4y= —-10

,0) 8!‘+)_—16
—3\‘+) =-5

8) 7x+ 2)::24
8x+2y=30

0) ~x+9y=9
X=3y=-§6

2) -Tx+ y=-19
-2x+3y=-19
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